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QUESTION 1

Which rule applies to the REFERENCING clause in a CREATE TRIGGER statement? 

A. The OLD correlation-name and the OLD TABLE identifier can be used if the trigger event is an INSERT operation. 

B. The scope of each correlation-name and identifierused is the entire trigger definition. 

C. The OLD TABLE or NEW TABLE identifiers can be defined in a BEFORE trigger. 

D. A NEW correlation-name can be specified more than once for a trigger. 

Correct Answer: B 

 

 

QUESTION 2

Which action is supported by Data Studio in the SQL procedure lifecycle? 

A. Create global temporary tables to use in the SQL procedure. 

B. Debug the SQL procedure. 

C. Use auto complete SQL statements. 

D. Create user-define types in the SQL procedure. 

Correct Answer: B 

 

 

QUESTION 3

Which two statements are true? (Choose two.) 

A. SQL procedures can contain static and/or dynamic SQL statements. 

B. Static or dynamic SQL execution is not associated with a package. 

C. The SQL procedure isalways associated with a package that contains access paths of SQL statements in the
procedure. 

D. It is necessary for an end-user to have object level privileges if that user has execute privileges on an associated
package and the SQL procedure. 

E. SQL procedures can have COMMIT or ROLLBACK within atomic compound statements. 

Correct Answer: AC 

 

C2090-545 Study Guide | C2090-545 Exam Questions | C2090-545 Braindumps                                2 / 4

https://www.geekcert.com/c2090-545.html
https://www.geekcert.com/c2090-545.html
https://www.geekcert.com/c2090-545.html


https://www.geekcert.com/c2090-545.html
2024 Latest geekcert C2090-545 PDF and VCE dumps Download

 

QUESTION 4

Click the Exhibit button. 

How many rows will be in table INFO2 after the procedure MOVE_DATA shown in the exhibit is executed? 

A. 0 

B. 4 

C. 5 

D. 7 

Correct Answer: B 
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QUESTION 5

Which of the following can be done while debugging a SQL procedure with IBM Data Studio? 

A. Change the order of statements being executed. 

B. Edit the procedure and continue. 

C. Change the value of any variables used. 

D. Re-executethe current statement. 

Correct Answer: C 
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